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H-300 x 150 x 6.5 x 9

G.PL-9 3-M20 HTB

33

300

h*= 338 - 18/2 = 329

Tl= 159.2/2 x 23.5 x 1.1 x 0.02 = 41.2 kN

T2= 41.2 x 0.488/0.15

T3= 134.0 - 41.2

92.

M =41.2 x 0.329 = 13.

PL-9 W=300 Z=(0.9 x

o /f = 1360/(135 x 23.

H-300 x 150 x 6.5 x 9

A = 625/12.4 = 51 =>

o /f = 134.0/(46.78 x

134.0 kN

8 kN =>

6 kN m

30%)/6 = 135 cm® A= 0.9 x 30 = 27.0 cm?

5) + 134.0/(27 x 23.5) = 0.64 < 1  OK

(A=46.78 ix=12.4 1k=6.25m)
sfc = 20.1 kN/cm®
0.69 Q=55.1 kN

20.1) + 0.69/71.5 = 0.49 < 1 0K

M20 => RTs= 47.1 x 1.5 = 70.6 kN

o /f =V134% + 55.1%/(70.6 x 3) = 0.69 <1 OK

H-488 x 300 x 11 x 18 (A=159.2)

SS400



H-488 x 300 x 11 x 18 (A=159.2)
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h*= 338 - 18/2 = 329
T1
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Tl= 159.2/2 x 23.5 x 1.1 x 0.02 = 41.2 kN

M =41.2 x 0.329 = 13.6 kN m

P1= 13.6/0.12 = 113.4 kN

PL-9 W=438-18=420 Z=(0.9 x 42%)/6 = 264 cm® A= 0.9 x 42 = 37.8 cm?

o /f = 1360/(264 x 23.5) + 41.2/(37.8 x 23.5) = 0.27 < 1  OK

H-300 x 150 x 6.5 x 9 (A=46.78 iy=3.29 Ik=6.25m Z=481)
A = 625/3.29 = 190 => sfc = 3.87 kN/cm?

0.69 = 55.1 kN
o /f = 41.2/(40.0 x 3.87) + 1360/(316 x 23.5) = 0.45 < 1  OK

o /f = 41.2/(46.78 x 3.87) + 1360/(2 x 481 x 23.5) + 0.69/1.5 = 0.63 < 1 0K
M/2

M20 => sRT= 47.1 x 1.5 = 70.6 kN
N= 41.2/5 + 113.4/2 = 65.0 kN

Q= 55.1/5 = 11.0 kN

o /f =\ 65.0% + 11.0%/70.6 = 0.94 < 1 0K



